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A. You cannot drive beyond the sign.  

B. It is a no entry zone. 

C. You are not supposed to park beyond the 

sign. 

Correct answer – move two fields forward.  

Incorrect answer – go back two fields. 

 

A. You must not cross the road. 

B. You are supposed to cross the road in a 

special area.  

C. You must use the sidewalk to cross the road. 

 

Correct answer – move one field forward.  

Incorrect answer – go back one field. 

 

 

A. You are not allowed to turn right.  

B. You must turn right. 

C. If you turn right, you will join one-way 

traffic. 

 

Correct answer – move two fields forward.  

Incorrect answer – go back two fields. 

 

 

 

A. Road works ahead. 

B. You should slow down.  

C. A and B are correct.  

 

Correct answer – roll the die again.  

Incorrect answer – you miss two turns. 

angielskipodrodze.pl 

 

 

A. There is no through road for vehicles.  

B. You must pull over.  

C. You are not allowed to park at the end of the 

road.  

 

Correct answer – move three fields forward.  

Incorrect answer – go back two fields. 



 

 

A. You are approaching a roundabout. 

B. You have to give way to the vehicles from 

the immediate right. 

C. A and B are correct. 

Correct answer – move two fields forward.  

Incorrect answer – you miss one turn. 

 

A. Parking in this area is strictly prohibited.  

B. You may pull over and admire the view.  

C. A and B are correct.  

 

Correct answer – move two fields forward.  

Incorrect answer – go back two fields. 
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A. You should watch for falling rocks. 

B. You should turn back and find another way. 

C. A coal mine ahead. 

 

Correct answer – move two fields forward.  

Incorrect answer – go back two fields. 

 

 

 

A. You are lucky if you are running out of 

petrol. 

B. You are supposed to fuel your car at the next 

petrol station. 

C. You must slow down. 

Correct answer – move one field forward.  

Incorrect answer – move one field behind the 

last player. 

 

 

A. You may pull over and park your car in 9 

miles. 

B. You may leave the highway in 9 miles.  

C. A and B are correct. 

 

Correct answer – roll the die again.  

Incorrect answer – go back two fields. 
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Oops, you’ve just met 

Pinocchio, the famous liar. 

You miss one turn. 

 

 

A. Drivers are not allowed beyond the sign. 

B. You must give way to all cars from beyond 

the sign. 

C. You must stop your car. 

Correct answer – move two fields forward.  

Incorrect answer – go back to START. 

 

 

A. You must not overtake other cars.  

B. You may overtake cars on the right.  

C. You are not supposed to drive faster than 

other cars. 

Correct answer – move two fields forward.  

Incorrect answer – go back three fields. 
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A. No right turn.  

B. Turning right is not allowed.  

C. A and B are correct. 

 

Correct answer – move two fields forward.  

Incorrect answer – you miss one turn. 
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